Identifying the distribution…
Students often find it difficult to identify which distribution they should be using. The questions can be very wordy, so strategies that you use for younger students with literacy problems can be helpful for your A level students – and not just the dyslexic and autistic ones.

The aim of this activity is not to actually do the question, but to practise reading them. Cut the questions up and get students to sort them into piles – one for Binomial and one for Poisson. Students should identify the key words in the question that tell them which distribution, whether it is a one-tailed or two-tailed test, what form the hypotheses will take etc.

You can set the students to do the questions afterwards if you like, but the aim of the resource is to get through reading a lot of questions. The questions are from very old Edexcel papers, so that you are not using up current past papers. Solutions are provided.
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[image: image1.png]Previous evidence has shown that 20% of apples grown in an orchard are unfit for sale.
The owner has introduced some new practices which it is hoped will reduce this
percentage. Following the introduction of these new practices, a random sample of 20
apples was taken and only one was found to be unfit for sale.

(@) Stating your hypotheses clearly test, at the 5% level of significance, whether or not
there is evidence that the new practices have worked. {6 marks)

The owner arranged for a further 9 random samples of size 20 to be taken and found
that overall 30 of the 200 apples were unfit for sale.

(b) Using the same hypotheses as in part () together with a suitable approximation,
test whether or not this sample of 200 apples gives evidence that the new practices
have worked. Use a 5% level of significance. (8 marks)

The owner intends to buy more orchards and in future would like to be able to judge
whether or not these new practices work using a single random sample of size 20. He
will conclude that the new practices are working if not more than one apple is unfit for
sale. Given that, in an orchard, 20% of apples were previously unfit for sale,
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